

ABSOLUTE CONTINUITY OF DISCRETE ONE-SIDED RANDOM TRANSLATION

AOI HONDA, YOSHIAKI OKAZAKI AND HIROSHI SATO

ABSTRACT. Let \mathbf{X} be an IID random sequence and \mathbf{Y} be an independent random sequence which is also independent of \mathbf{X} , and $\mu_{\mathbf{X}}$ and $\mu_{\mathbf{X}+\mathbf{Y}}$ are the probability measures on the sequence space induced by \mathbf{X} and $\mathbf{X} + \mathbf{Y}$, respectively. The aim of this paper is to characterize $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ (mutually absolutely continuous) in terms of $\mu_{\mathbf{Y}}$ in the case where \mathbf{X} and \mathbf{Y} take values in non-negative integers. First, we give necessary or sufficient conditions for general \mathbf{X} and \mathbf{Y} by introducing a ratio function. Second, we give a necessary and sufficient condition for $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ when \mathbf{X} obeys a geometric distribution, and give several examples.

1 Introduction

Throughout this paper $\mathbf{X} = \{X_k\}_{k=1}^{\infty}$ denotes an independent identically distributed (IID) random sequence defined on a probability space $(\Omega, \mathcal{F}, \mathbb{P})$, and $\mathbf{Y} = \{Y_k\}_{k=1}^{\infty}$ an independent random sequence on $(\Omega, \mathcal{F}, \mathbb{P})$ which is also independent of \mathbf{X} . Denote by $\mu_{\mathbf{X}}$ and $\mu_{\mathbf{X}+\mathbf{Y}}$ the probability measures on the sequence space induced by \mathbf{X} and $\mathbf{X} + \mathbf{Y} = \{X_k + Y_k\}_{k=1}^{\infty}$, respectively. Furthermore, assume $\mu_{X_k+Y_k} \sim \mu_{X_k}$ (mutually absolutely continuous) for each pair of marginal distributions $\mu_{X_k+Y_k}$ and μ_{X_k} , $k \geq 1$. Then Kakutani's dichotomy theorem implies either $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ or $\mu_{\mathbf{X}+\mathbf{Y}} \perp \mu_{\mathbf{X}}$ (singular). The problem is to characterize $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ in terms of $\mu_{\mathbf{Y}}$.

2000 *subject classification*: 60G30, 28C20, 46G12

Key words and phrases: absolutely continuous, equivalent, Kakutani's dichotomy theorem, random translation, ratio function, Fisher information

In [2], they discussed the above problem when \mathbf{X} and \mathbf{Y} take values in non-negative real numbers, that is, $X_k, Y_k \in \mathbb{R}_+ = [0, \infty)$. They gave a necessary and sufficient condition for $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ when \mathbf{X} obeys an exponential distribution and \mathbf{Y} is arbitrary. Furthermore, they discussed the 0-1 valued Y_k and gave a necessary or sufficient conditions for $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$.

In this paper, we shall discuss the case where \mathbf{X} and \mathbf{Y} take values in non-negative integers, that is, $X_k, Y_k \in \mathbf{N}_0 = \{0, 1, 2, \dots\}$. We denote the density functions of X_1 and Y_k by

$$f(n) = \mathbb{P}(X_1 = n) \quad \text{and} \quad g_k(m) = \mathbb{P}(Y_k = m), \quad n, m \in \mathbf{N}_0,$$

respectively. We assume $f(n) > 0$ for every $n \in \mathbf{N}_0$ and $g_k(0) > 0$ for every $k \geq 1$ and define $f(n) = 0$ if $n < 0$ for convenience.

Sato and Tamashiro[5] introduced the informations of \mathbf{X} defined by:

$$J(\mathbf{X}; \ell) := \sum_{n=0}^{\infty} \frac{(f(n-\ell) - f(n))^2}{f(n)} < +\infty, \quad \ell \geq 1,$$

which we shall call the discrete Fisher information(Shepp[6]) of order ℓ .

In Section 2, We shall introduce a ratio function $\rho(n)$ of \mathbf{X} and discuss the relations among $\rho(n)$, $Z_k(n)$ and $J(\mathbf{X}; \ell)$, where $Z_k(n)$ is defined by

$$\begin{aligned} Z_k(n) &:= \frac{d\mu_{X_k+Y_k}(n)}{d\mu_{X_k}} - 1 \\ &= \frac{\sum_{m=0}^{\infty} f(n-m)g_k(m)}{f(n)} - 1 \\ &= \frac{\sum_{m=1}^{\infty} (f(n-m) - f(n))g_k(m)}{f(n)}. \end{aligned}$$

We shall show that if $\rho(n)$ is non-increasing, then $f(n)$ is log-concave and $Z_k(n)$ is non-decreasing(Lemma 5).

If $Z_k(n)$ is non-decreasing, then we define

$$\gamma_k := \begin{cases} \infty, & \text{if } \sup_n Z_k(n) \leq 1, \\ \min \{n \in \mathbf{N}_0 \mid Z_k(n) > 1\}, & \text{otherwise,} \end{cases}$$

and prove the following theorem.

Theorem 1. Assume that \mathbf{X} and \mathbf{Y} take values in \mathbf{N}_0 , and $Z_k(n)$ is non-decreasing. Then $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ implies

$$\sum_k \mathbb{P}(\gamma_k \leq Y_k) < \infty.$$

Furthermore, we shall give a sufficient condition for $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ in terms of the discrete Fisher informations as follows.

Theorem 2. Assume that \mathbf{X} and \mathbf{Y} take values in \mathbf{N}_0 . If there exists a sequence of positive numbers $\{L_k\}_{k=1}^\infty$ such that

$$\sum_{k=1}^\infty \mathbb{P}(Y_k \geq L_k) < \infty \tag{1}$$

and

$$\sum_{k=1}^\infty \sup_{0 < \ell < L_k} J(\mathbf{X}; \ell) \mathbb{P}(0 < Y_k < L_k)^2 < \infty, \tag{2}$$

then $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$.

This is a generalizaion of Sato and Tamashiro[5]’s Theorem 2.1.

In Section 4, we shall specify the distribution of X_k to a geometric distribution and give a necessary and sufficient condition for $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ by similar discussions as in [2].

Theorem 3. Let \mathbf{X} be an \mathbf{N}_0 -valued IID random sequence and assume that \mathbf{X} obeys a geometric distribution, that is, $f(n) = pq^n$, $n \in \mathbf{N}_0$ for $p, q > 0$ ($p + q = 1$) and let $Y_k, k \geq 1$, take values in \mathbf{N}_0 . Then $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ if and only if the following three series converge:

$$\sum_{k=1}^\infty \mathbb{P}(\gamma_k \leq Y_k) < \infty, \tag{3}$$

$$\sum_{k=1}^\infty q^{\gamma_k} < \infty \tag{4}$$

and

$$\sum_{k=1}^\infty \sum_{m=0}^{\gamma_k-1} q^{-m} \mathbb{P}(m < Y_k < \gamma_k)^2 < \infty, \tag{5}$$

where

$$\gamma_k = \begin{cases} \infty, & \text{if } \mathbb{E}[q^{-Y_k}] \leq 2, \\ \min \{n \in \mathbf{N}_0 \mid \mathbb{E}[q^{-Y_k} : Y_k \leq n] > 2\}, & \text{otherwise} \end{cases} \quad (6)$$

We shall also give several corollaries of the above theorem.

2 Ratio function $\rho(n)$

In this section, we shall discuss the relation among the ratio function $\rho(n)$, $Z_k(n)$ and the discrete Fisher informations. We define $\rho(n)$ by

$$\rho(n) := \frac{f(n)}{f(n-1)}, \quad n \geq 1.$$

Example 4. (i) When \mathbf{X} obeys a geometric distribution, we have

$$\rho(n) = q.$$

(ii) When \mathbf{X} obeys a Poisson distribution with mean $\lambda > 0$, we have

$$\rho(n) = \frac{\lambda}{n}.$$

Lemma 5. If $\rho(n)$ is non-increasing, then $f(n)$ is log-concave and $Z_k(n)$ is non-decreasing.

Proof. Assume $\rho(n)$ is non-increasing. Then we have

$$0 \leq \rho(n) - \rho(n+1) = \frac{f(n)}{f(n-1)} - \frac{f(n+1)}{f(n)},$$

that is,

$$\frac{f(n-1)}{f(n)} \leq \frac{f(n)}{f(n+1)},$$

which implies the log-concavity of $f(n)$.

On the other hand, we have

$$\begin{aligned} & Z_k(n) - Z_k(n+1) \\ &= \left(\sum_{\ell=0}^{\infty} \frac{f(n-\ell)}{f(n)} g_k(\ell) - 1 \right) - \left(\sum_{\ell=0}^{\infty} \frac{f(n+1-\ell)}{f(n+1)} g_k(\ell) - 1 \right) \\ &= \sum_{\ell=1}^{\infty} \left(\frac{f(n-\ell)}{f(n)} - \frac{f(n+1-\ell)}{f(n+1)} \right) g_k(\ell). \end{aligned}$$

Noting

$$\frac{f(n-\ell)}{f(n)} = \frac{f(n-1)}{f(n)} \frac{f(n-2)}{f(n-1)} \cdots \frac{f(n-\ell)}{f(n-\ell+1)}$$

and

$$\frac{f(n+1-\ell)}{f(n+1)} = \frac{f(n)}{f(n+1)} \frac{f(n-1)}{f(n)} \cdots \frac{f(n+1-\ell)}{f(n+2-\ell)},$$

we have for any ℓ , $\frac{f(n-\ell)}{f(n)} \leq \frac{f(n+1-\ell)}{f(n+1)}$, hence $Z_k(n) - Z_k(n+1) \leq 0$.

The discrete Fisher informations and $\rho(n)$ are related as follows.

Lemma 6. If there exists $\varepsilon > 0$ such that $\rho(n) \geq \varepsilon$ for any n , then we have $J(\mathbf{X}; \ell) < +\infty$ for every $\ell = 1, 2, \dots$

Proof. Since $\rho(n) \geq \varepsilon$ for any n , we have $\sup_n \frac{1}{\rho(n)^2} \leq \frac{1}{\varepsilon^2} < \infty$ and for any ℓ

$$\begin{aligned} \frac{f(n-\ell)^2}{f(n)} &= \frac{f(n-\ell)^2}{f(n-\ell+1)^2} \frac{f(n-\ell+1)^2}{f(n-\ell+2)^2} \cdots \frac{f(n-1)^2}{f(n)^2} f(n) \\ &= \frac{1}{\rho(n-\ell+1)^2} \frac{1}{\rho(n-\ell+2)^2} \cdots \frac{1}{\rho(n)^2} f(n). \end{aligned}$$

Therefore we have

$$\begin{aligned} J(\mathbf{X}; \ell) &= \sum_{n=0}^{\infty} \frac{(f(n-\ell) - f(n))^2}{f(n)} = \sum_{n=0}^{\infty} \frac{f(n-\ell)^2}{f(n)} - 1 \\ &\leq \frac{1}{\varepsilon^{2\ell}} \sum_{n=0}^{\infty} f(n) = \frac{1}{\varepsilon^{2\ell}} < \infty. \end{aligned}$$

The converse of Lemma 6 does not hold. For instance, if \mathbf{X} obeys a Poisson distribution, then, although $J(\mathbf{X}; \ell) < \infty$ for any ℓ , we have $\inf_n \rho(n) = 0$.

Next, we shall give an example such that $J(\mathbf{X}; \ell) = \infty$.

Example 7. Define

$$f(n) = \begin{cases} C^{-1}a^m, & \text{if } n = 2m, \\ C^{-1}b^m, & \text{if } n = 2m + 1, \end{cases}$$

where $0 < a, b < 1, m \in \mathbf{N}_0, \frac{a^2}{b} \geq 1$ and $C = \frac{1}{1-a} + \frac{1}{1-b}$. Then we have $\sup_n \rho(n) = \infty, \inf_n \rho(n) = 0$ and

$$\begin{cases} J(\mathbf{X}; \ell) = \infty, & \ell \text{ is odd,} \\ J(\mathbf{X}; \ell) < \infty, & \ell \text{ is even.} \end{cases}$$

In fact, in the case where ℓ is an odd number, we have

$$\begin{aligned} J(\mathbf{X}; \ell) &= \sum_{n=0}^{\infty} \frac{f(n-\ell)^2}{f(n)} - 1 \geq \sum_{n \text{ is odd}} \frac{f(n-\ell)^2}{f(n)} - 1 \\ &= \sum_{m=0}^{\infty} \frac{C^{-2} a^{2m-\ell+1}}{C^{-1} b^m} - 1 \\ &= C^{-1} a^{1-\ell} \sum_{m=0}^{\infty} \left(\frac{a^2}{b}\right)^m - 1 = \infty, \end{aligned}$$

and in the case where ℓ is an even number, we have

$$\begin{aligned} J(\mathbf{X}; \ell) &= \sum_{n=0}^{\infty} \frac{f(n-\ell)^2}{f(n)} - 1 \\ &= \sum_{n \text{ is odd}} \frac{f(n-\ell)^2}{f(n)} + \sum_{n \text{ is even}} \frac{f(n-\ell)^2}{f(n)} - 1 \\ &= \sum_{m=0}^{\infty} \frac{C^{-2} b^{2m-\ell}}{C^{-1} b^m} + \sum_{m=0}^{\infty} \frac{C^{-2} a^{2m-\ell}}{C^{-1} a^m} - 1 \\ &= \frac{C^{-1}}{b^\ell} \sum_{m=0}^{\infty} b^m + \frac{C^{-1}}{a^\ell} \sum_{m=0}^{\infty} a^m - 1 < \infty. \end{aligned}$$

3 Random translation

To prove Theorem 1, we use Kitada and Sato's criterion for $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$.

Lemma 8. (Kitada and Sato[4], Theorem 2) $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ if and only if

$$(KS.1) \quad \sum_{k=1}^{\infty} \mathbb{E}[Z_k(X_k); Z_k(X_k) > 1] < \infty$$

and

$$(KS.2) \quad \sum_{k=1}^{\infty} \mathbb{E}[Z_k(X_k)^2; Z_k(X_k) \leq 1] < \infty.$$

Proof of Theorem 1. Assume $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$. Then by Lemma 8, we have (KS.1), so that

$$\begin{aligned} \infty &> \sum_{k=1}^{\infty} \sum_{n \in \{n | Z_k(n) > 1\}} \mathbb{E}[f(n - Y_k) - f(n)] \\ &= \sum_{k=1}^{\infty} \sum_{n=\gamma_k}^{\infty} \sum_{\ell=0}^{\infty} (f(n - \ell) - f(n)) g_k(\ell) \\ &= \sum_{k=1}^{\infty} \left(\sum_{n=\gamma_k}^{\infty} \sum_{\ell=0}^{\infty} f(n - \ell) g_k(\ell) - \sum_{n=\gamma_k}^{\infty} \sum_{\ell=0}^{\infty} f(n) g_k(\ell) \right). \end{aligned}$$

Since

$$\begin{aligned} &\sum_{n=\gamma_k}^{\infty} \sum_{\ell=1}^{\infty} f(n - \ell) g_k(\ell) \\ &= \sum_{n=\gamma_k}^{\infty} \sum_{\ell=0}^n f(n - \ell) g_k(\ell) = \sum_{n=\gamma_k}^{\infty} \sum_{\ell=0}^n f(\ell) g_k(n - \ell) \\ &= \sum_{n=\gamma_k}^{\infty} \sum_{\ell=0}^{\gamma_k-1} f(\ell) g_k(n - \ell) + \sum_{n=\gamma_k}^{\infty} \sum_{\ell=\gamma_k}^n f(\ell) g_k(n - \ell), \end{aligned}$$

we have

$$\begin{aligned} \infty &> \sum_{k=1}^{\infty} \mathbb{E}[Z_k(X_k) : Z_k(X_k) > 1] \\ &= \sum_k \left(\sum_{n=0}^{\gamma_k-1} \sum_{\ell=\gamma_k}^{\infty} f(n) g_k(\ell - n) \right. \\ &\quad \left. + \sum_{n=\gamma_k}^{\infty} \sum_{\ell=1}^{\infty} f(n) g_k(\ell) - \sum_{n=\gamma_k}^{\infty} \sum_{\ell=1}^{\infty} f(n) g_k(\ell) \right) \\ &= \sum_{k=1}^{\infty} \sum_{n=0}^{\gamma_k-1} \sum_{\ell=\gamma_k}^{\infty} f(n) g_k(\ell - n) \geq \sum_{k=1}^{\infty} \sum_{\ell=1}^{\infty} f(0) g_k(\ell) \end{aligned}$$

$$= f(0) \sum_{k=1}^{\infty} \mathbb{P}(Y_k \geq \gamma_k)$$

This completes the proof.

Proof of Theorem 2. By Kakutani[3]'s criterion, we have $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ if and only if

$$\sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \left| \sqrt{f(n)} - \sqrt{\mathbb{E}[f(n-Y_k)]} \right|^2 < \infty. \quad (7)$$

Since

$$\left| \sqrt{f(n)} - \sqrt{\mathbb{E}[f(n-Y_k)]} \right|^2 = \frac{(f(n) - \mathbb{E}[f(n-Y_k)])^2}{(\sqrt{f(n)} + \sqrt{\mathbb{E}[f(n-Y_k)]})^2}$$

and for any $a, b \geq 0$, $a + b \leq (\sqrt{a} + \sqrt{b})^2 \leq 2(a + b)$, (7) is equivalent to

$$\sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(f(n) - \mathbb{E}[f(n-Y_k)])^2}{f(n) + \mathbb{E}[f(n-Y_k)]} < \infty.$$

We have

$$\begin{aligned} & \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(f(n) - \mathbb{E}[f(n-Y_k)])^2}{f(n) + \mathbb{E}[f(n-Y_k)]} \\ &= \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(\mathbb{E}[f(n) - f(n-Y_k) | Y_k \geq L_k] + \mathbb{E}[f(n) - f(n-Y_k) | Y_k < L_k])^2}{f(n) + \mathbb{E}[f(n-Y_k)]} \\ &\leq 2 \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(\mathbb{E}[f(n) - f(n-Y_k) | Y_k \geq L_k])^2}{f(n) + \mathbb{E}[f(n-Y_k)]} \\ &\quad + 2 \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(\mathbb{E}[f(n) - f(n-Y_k) | 0 < Y_k < L_k])^2}{f(n) + \mathbb{E}[f(n-Y_k)]}. \end{aligned} \quad (8)$$

The first term of (8) is

$$\sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(\mathbb{E}[f(n) - f(n-Y_k) | Y_k \geq L_k])^2}{f(n) + \mathbb{E}[f(n-Y_k)]}$$

$$\begin{aligned} &\leq \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{\mathbb{E}[f(n)+f(n-Y_k) \mid Y_k \geq L_k] \mathbb{E}[f(n)+f(n-Y_k) \mid Y_k \geq L_k]}{f(n)+\mathbb{E}[f(n-Y_k)]} \\ &\leq \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \mathbb{E}[f(n)+f(n-Y_k) \mid Y_k \geq L_k] \\ &= 2 \sum_{k=1}^{\infty} \mathbb{P}(Y_k \geq L_k), \end{aligned}$$

and the second term of (8) is

$$\begin{aligned} &\sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(\mathbb{E}[f(n)-f(n-Y_k) \mid 0 < Y_k < L_k])^2}{f(n)+\mathbb{E}[f(n-Y_k)]} \\ &\leq \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(\sum_{0 < m < L_k} (f(n)-f(n-m))g_k(m))^2}{f(n)} \\ &\leq \sum_{k=1}^{\infty} \sum_{n=0}^{\infty} \frac{(\sum_{0 < m < L_k} (f(n)-f(n-m))^2 g_k(m)) (\sum_{0 < m < L_k} g_k(m))}{f(n)} \\ &\leq \sum_{k=1}^{\infty} \left\{ \sum_{0 < m < L_k} \left(\sum_{n=0}^{\infty} \frac{(f(n)-f(n-m))^2}{f(n)} \right) g_k(m) \right\} \left(\sum_{0 < m < L_k} g_k(m) \right) \\ &\leq \sum_{k=1}^{\infty} \sup_{1 \leq \ell < L_k} J(\mathbf{X}; \ell) \left(\sum_{0 < m < L_k} g_k(m) \right) \left(\sum_{0 < m < L_k} g_k(m) \right) \\ &= \sum_{k=1}^{\infty} \sup_{1 \leq \ell < L_k} J(\mathbf{X}; \ell) \left(\sum_{0 < m < L_k} g_k(m) \right)^2 \\ &= \sum_{k=1}^{\infty} \sup_{1 \leq \ell < L_k} J(\mathbf{X}; \ell) \mathbb{P}(0 < Y_k < L_k)^2. \end{aligned}$$

This completes the proof.

4 The case where \mathbf{X} is geometrically distributed

Proof of Theorem 3. Since the proof is similar to that of [2], we shall only show the outline here. First we have

$$Z_k(n) = \sum_{m=0}^n q^{-m} g_k(m) - 1 = \mathbb{E} [q^{-Y_k} : Y_k \leq n] - 1$$

and $\rho(n) = q$, so that $Z_k(n)$ is non-decreasing and γ_k is given by (6). By Lemma 8, $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ is equivalent to (KS.1) and (KS.2).

Assume (KS.1). We have

$$\begin{aligned} & \mathbb{E}[Z_k(X_k) : Z_k(X_k) \geq 1] \\ &= \sum_{n=\gamma_k}^{\infty} pq^n (\mathbb{E}[q^{-Y_k} : Y_k \leq n] - 1) \\ &= q^{\gamma_k} \mathbb{E}[q^{-Y_k} : Y_k \leq \gamma_k] + \mathbb{P}(Y_k > \gamma_k) - q^{\gamma_k} \end{aligned}$$

and we have $\mathbb{E}[q^{-Y_k} : Y_k \leq \gamma_k] \geq 2$ if $\gamma_k < \infty$, hence

$$\mathbb{E}[Z_k(X_k) : Z_k(X_k) \geq 1] \geq \mathbb{P}(Y_k > \gamma_k) + q^{\gamma_k},$$

so that we have

$$\sum_{k=1}^{\infty} \mathbb{P}(Y_k > \gamma_k) + \sum_{k=1}^{\infty} q^{\gamma_k} = \sum_{k:\gamma_k < \infty} \mathbb{P}(Y_k > \gamma_k) + \sum_{k:\gamma_k < \infty} q^{\gamma_k} < \infty.$$

Furthermore, since $q^{-Y_k} \geq 1$ a.e., we have

$$\mathbb{E}[Z_k(X_k) : Z_k(X_k) \geq 1] \geq (1 - q^{\gamma_k}) \mathbb{P}(\gamma_k \leq Y_k).$$

Since $\gamma_k \rightarrow \infty$ as $k \rightarrow \infty$ by (4), (KS.1) implies (3) and (4).

Conversely, assume (3) and (4). We have $\mathbb{E}[q^{-Y_k} : Y_k < \gamma_k] \leq 2$ by definition, so that we have

$$\mathbb{E}[Z_k(X_k) : Z_k(X_k) \geq 1] \leq q^{\gamma_k} + \mathbb{P}(Y_k \geq \gamma_k),$$

therefore (3) and (4) implies (KS.1). Consequently, (KS.1) is equivalent to (3) and (4).

Next, assume (KS.1), and denote by $\{Y'_k\}$ an independent copy of $\{Y_k\}$, $k \geq 1$. Then we have

$$\begin{aligned} & \mathbb{E}[Z_k(X_k)^2 : Z_k(X_k) < 1] \\ &= \sum_{n=0}^{\gamma_k-1} pq^n (\mathbb{E}[q^{-Y_k} : Y_k \leq n] - 1)^2 \\ &= p \sum_{n=0}^{\gamma_k-1} q^n (\mathbb{E}[q^{-(Y_k+Y'_k)} : Y_k, Y'_k \leq n] - 2\mathbb{E}[q^{-Y_k} : Y_k \leq n] + 1) \end{aligned}$$

$$\begin{aligned}
 &= \mathbb{E}[q^{-(Y_k \wedge Y'_k)} : Y_k, Y'_k < \gamma_k] - \mathbb{P}(Y_k < \gamma_k) - q^{\gamma_k} \mathbb{E}[q^{-Y_k} : Y_k < \gamma_k]^2 \\
 &\quad + \mathbb{P}(Y_k = \gamma_k) + \mathbb{P}(Y_k > \gamma_k) + 2q^{\gamma_k} \mathbb{E}[q^{-Y_k} : Y_k < \gamma_k] - q^{\gamma_k},
 \end{aligned}$$

where $a \wedge b := \min\{a, b\}$. By $\mathbb{E}[q^{-Y_k} : Y_k < \gamma_k] \leq 2$ and the assumption, the last five terms in the final expression are summable. Therefore, under (KS.1), (KS.2) is equivalent to

$$\sum_{k=1}^{\infty} \left\{ \mathbb{E}[q^{-(Y_k \wedge Y'_k)} : Y_k, Y'_k < \gamma_k] - \mathbb{P}(Y_k < \gamma_k) \right\} < \infty.$$

Furthermore, since

$$\mathbb{P}(Y_k < \gamma_k) = \mathbb{P}(Y_k < \gamma_k, Y'_k < \gamma_k) + \mathbb{P}(Y_k < \gamma_k, Y'_k \geq \gamma_k),$$

we have

$$\begin{aligned}
 &\sum_{k=1}^{\infty} \left\{ \mathbb{E}[q^{-(Y_k \wedge Y'_k)} : Y_k, Y'_k < \gamma_k] - \mathbb{P}(Y_k < \gamma_k) \right\} \\
 &= \sum_{k=1}^{\infty} \mathbb{E}[q^{-(Y_k \wedge Y'_k)} - 1 : Y_k, Y'_k < \gamma_k] \\
 &\quad - \sum_{k=1}^{\infty} \mathbb{P}(Y_k < \gamma_k) \mathbb{P}(Y'_k \geq \gamma_k),
 \end{aligned}$$

where the second sum in the right-hand side is finite by (3). Thus under (KS.1), (KS.2) is equivalent to

$$\sum_{k=1}^{\infty} \mathbb{E}[q^{-(Y_k \wedge Y'_k)} - 1 : Y_k, Y'_k < \gamma_k] < \infty,$$

which is expressed as

$$\sum_{k=1}^{\infty} \sum_{n=0}^{\gamma_k-1} q^{-n} \mathbb{P}(n < Y_k < \gamma_k)^2 < \infty,$$

because

$$\begin{aligned}
 &\mathbb{E}[q^{-(Y_k \wedge Y'_k)} - 1 : Y_k, Y'_k < \gamma_k] \\
 &= \mathbb{E}\left[\frac{p}{q} \sum_{m=0}^{\infty} q^{-m} \mathbf{I}_{[0, (Y_k \wedge Y'_k) - 1]}(m) : Y_k, Y'_k < \gamma_k\right]
 \end{aligned}$$

Therefore (9) implies (3), (4) and (5).

(ii) By the assumption, $-a_k \geq -L$ for some $L > 0$ so that $q^{-a_k} \leq q^{-L}$. Hence the second term of (9) is equivalent to

$$\sum_{p_k(q^{-a_k}-1) \leq 1} p_k^2 < \infty.$$

On the other hand, if $p_k \rightarrow 0$, then since $a_k \leq L$, we have $p_k(q^{-a_k} - 1) \rightarrow 0$. Hence $\#\{k \mid p_k(q^{-a_k} - 1) > 1\} < \infty$. Therefore we obtain the assertion.

Next corollary is the case where \mathbf{Y} also obeys a geometric distribution. Remark that $\sum_k q_k^2 = \sum_k \mathbb{P}(Y_k > 0)^2$ in this case.

Corollary 11. Assume \mathbf{X} obeys a geometric distribution with $f(n) = \frac{1}{2^{n+1}}$, $n \in \mathbf{N}_0$, and \mathbf{Y} also obeys a geometric distribution with $g_k(m) = p_k q_k^m$, $n \in \mathbf{N}_0$, $p_k, q_k > 0$, $p_k + q_k = 1$, $k \geq 1$. Then $\mu_{\mathbf{X}+\mathbf{Y}} \sim \mu_{\mathbf{X}}$ if and only if

$$\sum_{k=1}^{\infty} q_k^2 < \infty.$$

Proof. We have

$$\begin{aligned} Z_k(X_k)(n) &= \mathbb{E}[2^{Y_k} : Y_k \leq n] = \sum_{m=0}^n 2^m p_k q_k^m \\ &= \begin{cases} \frac{(1 - q_k) \{(2q_k)^{n+1} - 1\}}{2q_k - 1}, & q_k \neq \frac{1}{2}, \\ \frac{n + 1}{2}, & q_k = \frac{1}{2}, \end{cases} \end{aligned}$$

so that

$$\gamma_k = \begin{cases} \infty, & q_k \leq \frac{1}{3} \\ \left\lceil \frac{\log \frac{3q_k - 1}{1 - q_k}}{\log 2q_k} \right\rceil, & \frac{1}{3} < q_k < 1, q_k \neq \frac{1}{2} \\ 2, & q_k = \frac{1}{2}. \end{cases}$$

By (3) and (4), we obtain

$$\sum_k \sum_{m=\gamma_k}^{\infty} p_k q_k^m = \sum_k q_k^{\gamma_k} < \infty \tag{10}$$

and

$$\sum_k \left(\frac{1}{2}\right)^{\gamma_k} < \infty. \tag{11}$$

Next we consider the condition (5).

(i) The case where $\gamma_k < \infty$. We have

$$\begin{aligned} \sum_k \sum_{m=0}^{\gamma_k-1} 2^m \left\{ \sum_{z=m+1}^{\gamma_k-1} (1-q_k)q_k^z \right\}^2 &= \sum_k \sum_{m=0}^{\gamma_k-1} 2^m (q_k^{m+1} - q_k^{\gamma_k})^2 \\ &= \sum_k \sum_{m=0}^{\gamma_k} 2^m (q_k^{m+1} - q_k^{\gamma_k})^2 \geq \sum_k (q_k - q_k^{\gamma_k})^2 \\ &= \sum_k (q_k^2 - 2q_k^{\gamma_k+1} + q_k^{2\gamma_k}), \end{aligned}$$

and by (10), (5) implies $\sum_k q_k^2 < \infty$.

Conversely, assume $\sum_k q_k^2 < \infty$, then there exists an N_1 such that $2q_k < \frac{1}{2}$ for any $k \geq N_1$. We have

$$\begin{aligned} \sum_{k=N_1}^{\infty} \sum_{m=0}^{\gamma_k-1} 2^m (q_k^{m+1} - q_k^{\gamma_k})^2 &= \sum_{K=N_1}^{\infty} \sum_{m=0}^{\gamma_k-1} 2^m q_k^{2m+2} (1 - q_k^{\gamma_k-m-1})^2 \\ &\leq \sum_{k=N_1}^{\infty} \sum_{m=0}^{\gamma_k-1} 2^m q_k^{2m} q_k^2 = \sum_{k=N_1}^{\infty} \frac{q_k^2 (1 - (2q_k)^{\gamma_k})}{1 - 2q_k} \\ &< 2 \sum_{k=N_1}^{\infty} q_k^2 < \infty, \end{aligned}$$

hence $\sum_k q_k^2 < \infty$ implies (5). Therefore (5) is equivalent to $\sum_k q_k^2 < \infty$.

(ii) The case where $\gamma_k = \infty$. We have

$$\sum_k \sum_{m=0}^{\gamma_k-1} 2^m \left\{ \sum_{z=m+1}^{\gamma_k-1} (1-q_k)q_k^z \right\}^2 = \sum_k \sum_{m=0}^{\infty} 2^m q_k^{2(m+1)} = \frac{q_k^2}{1 - 2q_k^2}$$

and

$$\frac{9}{7}q_k^2 < \frac{q_k^2}{1 - 2q_k^2} < q_k^2,$$

then it also holds that (5) is equivalent to $\sum_k q_k^2 < \infty$.

If $\sum_k q_k^2 < \infty$, then $q_k \rightarrow 0$, so that there exists an N_2 such that $q_k \leq \frac{1}{3}$ for $k \geq N_2$, so that $\gamma_k = \infty$ for $k \geq N_2$. Hence $\sum_k q_k^2 < \infty$ implies $\sum_k q_k^{\gamma_k} < \infty$ and $\sum_k 2^{-\gamma_k} < \infty$.

References

- [1] M. Hino, On equivalence of product measures by random translation, *J. Math. Kyoto Univ.*, **34-4** (1994), 755–765.
- [2] A. Honda and H. Sato, Equivalence of non-negative random translates of an IID sequence, *preprint*.
- [3] S. Kakutani, On equivalence of infinite product measures, *Ann. of Math.*, **49** (1948), 214–224.
- [4] K. Kitada and H. Sato, On the absolute continuity of infinite product measure and its convolution, *Probab. Theory Related Fields*, **81** (1989), 609–627.
- [5] H. Sato and M. Tamashiro, Absolute continuity of one-sided random translations, *Stochastic Process. Appl.*, **58** (1995), 187–204.
- [6] L. A. Shepp, Distinguishing a sequence of random variables from a translate of itself, *Ann. Math. Statist.*, **36** (1965), 1107–1112.

AOI HONDA

Department of Control Engineering and Science
 Faculty of Computer Science and Systems Engineering
 Kyushu Institute of Technology
 680-4 Kawazu, Iizuka 820-8502, Japan
E-mail address: aoi@ces.kyutech.ac.jp

YOSHIAKI OKAZAKI

Department of Control Engineering and Science
 Faculty of Computer Science and Systems Engineering
 Kyushu Institute of Technology
 680-4 Kawazu, Iizuka 820-8502, Japan
E-mail address: okazaki@ces.kyutech.ac.jp

HIROSHI SATO
Faculty of Mathematics
Kyushu University
Fukuoka 812-8581, Japan
E-mail address: sato@math.kyushu-u.ac.jp